
Naam: 　　　　　　　 Datum: 　　　　　　 Score: 　　　

Negatieve exponenten van 10

2 × 10 = 10 =(−4)

473, 5 ÷ 10 =(−4) 652 ÷ 10 =(−1)

561, 8 × 10 =(−4) 1 × 10 =(−1)

384, 1 ÷ 10 =(−2) 397, 8 × 10 =(−1)

8 × 10 =(−1) 880, 3 ÷ 10 =(−3)

10 =(−1) 337, 7 × 10 =(−2)

10 =(−4) 856, 9 ÷ 10 =(−2)

10 =(−2) 205, 8 × 10 =(−3)

5 × 10 = 10 =(−2)

10 =(−3) 6 × 10 =
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Naam: 　　　　　　　 Datum: 　　　　　　 Score: 　　　

Negatieve exponenten van 10

2 × 10 = 20 10 = 0.0001(−4)

473, 5 ÷ 10 = 4735000(−4) 652 ÷ 10 = 6520(−1)

561, 8 × 10 = 0.05618(−4) 1 × 10 = 0.1(−1)

384, 1 ÷ 10 = 38410(−2) 397, 8 × 10 = 39.78(−1)

8 × 10 = 0.8(−1) 880, 3 ÷ 10 = 880300(−3)

10 = 0.1(−1) 337, 7 × 10 = 3.377(−2)

10 = 0.0001(−4) 856, 9 ÷ 10 = 85690(−2)

10 = 0.01(−2) 205, 8 × 10 = 0.2058(−3)

5 × 10 = 50 10 = 0.01(−2)

10 = 0.001(−3) 6 × 10 = 60
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